CHANGING THE SUBJECT OF A FORMULA
Pearson Edexcel - Tuesday 19 May 2020 - Paper 1 (Non-Calculator) Higher Tier

1.

31=1)

17 Make fthe subject of the formula 4= 4

(Total for Question 17 is 4 marks)

Pearson Edexcel - Thursday 6 June 2019 - Paper 2 (Calculator) Higher Tier

2.



Im+ 4

15 Make m the subject of the formula = |
™m—

{ Total for Cuestlon 15 is 3 marks)

Pearson Edexcel - Tuesday 6 November 2018 - Paper 1 (Non-Calculator) Higher Tier

3.



2 vi=ul+ 2as
u=12 a=-3 =18

(a) Work out a value of v.

(b) Make s the subject of  v*=u® + 2as

{Total for Question 2 is 4 marks)

Pearson Edexcel - Tuesday 13 June 2017 - Paper 3 (Calculator) Higher Tier

4.



14 (a) Simplify ——

2y = Sx =2

1508 = 2v)

%

(b) Make v the subject of the formula w =

(Total for Question 14 is 6 marks)

Pearson Edexcel - Specimen Papers Set 2 - Paper 3 (Calculator) Higher Tier

5.



3 Make ¢ the subject of the formula v =

(Total for Question 3 is 2 marks)

Pearson Edexcel - Specimen Papers Set 1 - Paper 1 (Non-Calculator) Higher Tier
6.
k' +1

\

Make & the subject of the formula,

1} m=

{Total for Choestion 13 is 3 marks)

Pearson Edexcel - Specimen Papers Set 1 - Paper 2 (Calculator) Higher Tier

7.



1 Make ¢ the subject of the formula w =37+ 11

(Total for Question 1 is 2 marks)
Pearson Edexcel - Sample Paper 1 - (Non-Calculator) Higher Tier

8.

a+7

F

17 Make g the subject of a+i=

(Total for Question 17 is 3 marks)

Pearson Edexcel - Thursday 9 June 2016 - Paper 2 (Calculator) Higher Tier

9.



18 (2) Simplify 2a%h = 5a°B

| X + ¥

Vs

(o) Make v the subject of the formmla p=

(Total for Question 18 1= 5 marks)

Pearson Edexcel - Wednesday 4 November 2015 - Paper 1 (Non-Calculator) Higher Tier

10.



4

21 (=) Write as a single facton in ifs simplest form 5
—x x

(o) Make y the subject of the formnla

(Total for Question 21 is 7 marks)

Pearson Edexcel - Friday 6 November 2015 - Paper 2 (Calculator) Higher Tier

11.



11 (=) Sobve I =147

() Work out the value of 27

{c) Simplify (37

w=4p— 14
(d) Make p the subject of this formula.

(Total for Question 11 is T marks)

Pearson Edexcel - Thursday 4 June 2015 - Paper 1 (Non-Calculator) Higher Tier

12.



Ja+ 5

4 —a

20 Mlake o the subject of the formula p =

(Total for Question 20 is 4 marks)

Pearson Edexcel - Friday 7 November 2014 - Paper 2 (Calculator) Higher Tier

13.



21 (s) Simplify fully = -orEs
+5r -6

() Make m the subject of
ﬂ _ L =1
v b R

(Total for Question 22 is 7 marks)

Pearson Edexcel - Monday 9 June 2014 - Paper 1 (Non-Calculator) Higher Tier

14.



12 You can changs temperatures from °F to °C by using the formula

_S(F -32)
9

.

F is the temperamre in °F.
' is the temperature n =,

The mininmm temperafure in an elderly person’s home shouald be 20°C.

Mrs Smith is an elderly person.
The temperatare in Mrs Smiths home is 77°F

*(a) Decide whether or not the temperature m Mrs Smith's homes is lower than the
minimum temperanre should be.

5(F - 32)

() Make F the subject of the formmla & = 3

(Total for Question 12 is 6 marks)

Pearson Edexcel - Friday 8 November 2013 - Paper 2 (Calculator) Higher Tier

15.



21 (a) Factorise 4x°—9

(b} Make m the subject of
g—3m=am+35

(Total for CQuestion 21 is 4 marks)

Pearson Edexcel - Friday 14 June 2013 - Paper 2 (Calculator) Higher Tier

16.

18 Make p the subject of the formula =5 —d

{ Total for Queston 18 is 3 marks)

Pearson Edexcel - Monday 4 March 2013 - Paper 2 (Calculator) Higher Tier

17.



14 4 =4k

A =100
b=2

{a) Work out the value of c

k+1

i =, |l——
TN

{b) Make & the subject of the formula.

{Total for Question 14 is 5 marks)

Pearson Edexcel - Tuesday 6 November 2012 - Paper 1 (Non-Calculator) Higher Tier

18.



24 Make 1 the subject of the formuola

{Total for Question 24 is 4 marks)

Pearson Edexcel - Monday 11 June 2012 - Paper 1 (Non-Calculator) Higher Tier
19.

# (a) Expand WIv—3)

(b) Factorise completely B + Ay

() Make A the subject of the formula

=<3

h=

{Total for Question 8 is 5 marks)



Pearson Edexcel - Wednesday 13 June 2012 - Paper 2 (Calculator) Higher Tier

20.

M Make r the :\.uL‘le'l.'I of the formula Nd-n=4+7T

(Total for Question 20 ks 3 marks)

Pearson Edexcel - Friday 2 March 2012 - Paper 3 (Non-Calculator) Higher Tier

21.



21. Here is a shape ABCDE.

[Magram NOT
accurately drawn

xi{m

i

A8, BC and I are three sides of a square
B = x cm.

AED is a semicirele with diameter A0,

The perimeter, P cm, of the shape ABRCDE is given by the formuola
Fomiy 42X
2

(a) Rearrange this formalda to make x the subject



The area, 4 em®, of this shape is given by A =lx* where k is a constann.

(k) Find the exact value of &
Giive your answer in i1s simplest form.

{Total 5 marks)

Pearson Edexcel - Wednesday 9 November 2011 - Paper 3 (Non-Calculator) Higher Tier

22.



17, y=p—2qt

oy
LTI
[ |

{a) Work out the value of v

(2)
{by Rearrange y=p— gt

to make ¥ the subject of the formula.

(3)

{Total 5 marks)

Pearson Edexcel - Monday 6 June 2011 - Paper 3 (Non-Calculator) Higher Tier

23.



K

-

23, Make k the subject of the formula =

i Pistal 4 marks)

Pearson Edexcel - Tuesday 9 November 2010 - Paper 3 (Non-Calculator) Higher Tier

24,

13. Make v the subject of the fornmmula =

whll =

{Total } marks)




Pearson Edexcel - Tuesday 9 November 2010 - Paper 3 (Non-Calculator) Higher Tier

25.

2§. Pis rvrarsely proportionsl o F
When F=5 FP=3

{a) Find a formmla for P in terms of ¥

e

{t) Caloalate the valoe of Pwhen F=2

(Total 4 marks)

Pearson Edexcel - Friday 11 June 2010 - Paper 4 (Calculator) Higher Tier
26.

17. hdake A the subject af the farmula A

(Total 2 marks)




Pearson Edexcel - Thursday 5 November 2009 - Paper 3 (Non-Calculator) Higher Tier

27.

16, Make g the subject of the formmla 5(g+p)=4+8p
Give your answer in its simplest form.

(Total 3 marks)

OCR GSCE — Thursday 8 November 2018 — Paper 5 (Non-Calculator) Higher Tier
28.

9 Rearrange this formula to make y the subject.

x=y2+?

- [2]



OCR GSCE — Wednesday 8 November 2017 — Paper 6 (Calculator) Higher Tier

29.

1
1 Use the formula s = ui—Eatz.

(a) Calculate swhenu=5,t=10anda= 3.

(@) 5=

(b) Make a the subject of the formula.

L T LI

[2]

[2]



OCR GSCE - Thursday 8 June 2017 — Paper 5 (Non - Calculator) Higher Tier
30.

5 (a) Rearrange the equation to make x the subject.

y=7Tx—3

(@) X= e [2]

(b) Factorise.

(i) - Xy

[(10) NSO L ||

(i) X +8x+12



AQA GSCE - Thursday 4 June 2020 - Paper 2 (Calculator) Higher Tier
31.

15 Rearrange a= b +5 tomake c the subject.
[

[3 marks]

Answer




AQA GSCE — Tuesday 11 June 2019 - Paper 3 (Calculator) Higher Tier

32.
8 Rearrange y=3x-2 tomake x the subject.

Circle your answer.

[1 mark]
T=£-2 x=}l+2 I:E I=£+2
3 3 3 3

AQA GSCE — Monday 12 November 2018 — Paper 3 (Calculator) Higher Tier
33.
26 fx) = 223

Work out 7'(x)

[4 marks]

Answer




AQA GSCE - Thursday 7 June 2018 — Paper 2 (Calculator) Higher Tier
34.

28 flx)=5-x and gix)=3x+7

28 (a) Simplify f(2x) + g(x—1)
[3 marks]

Answer

28 (b) Solve g '(x)=2x
[3 marks]




AQA GSCE — Wednesday 8 November 2017 — Paper 3 (Calculator) Higher Tier
35.

9 (a) Rearrange v=wu+a/ tomake ;the subject of the formula.

[2 marks]
Answer
9 (b) Complete this table with consistent metric units.
[2 marks]
Distance Time Speed Acceleration
m 5
AQA GSCE - Tuesday 13 June 2017 - Paper 3 (Calculator) Higher Tier
36.
3 Rearrange 2x= L to make w the subject.
W
Circle your answer.
[1 mark]
2_],' 2x v _ X

W= = W= — W= = WS —=—



AQA GSCE - Sample Paper 2 (Calculator) Higher Tier
37.

19 flx) = 3x

Circle the expression for f ' (x)
[1 mark]

3 3 !



